N&HET 10H
18 () 28 (K) 3H(KR) 48 (&)
R % B4 —A&Y | #zs BRf —A&Y | |#zs BRf —A&Y | |#xz BRf —A#HY
EXRRE EXRRE EXRRE ERNE
S [EERER 72| [ |BEXE®K) 72| (S [BEXE®K) 72| | |EEXER 65
'g Bk (B) 80 ';f Bk (B) 80 ';f ek (B) 80 IIJ Wy f- L1 x 1am) 12
gxaRib K 0.5 gxoRibk 0.5 gxoRibk 05| | |y bomL xiom 8
= BAESHE 2
g[ 43 206 ;ﬁ 43 206 gi 43 206 ; RUEEHE 15
AE 5
Ly G4 EULVAN(2 X 4cm) 45| |5 BRI & (3 X 3amA T A R) 45| |& C8) 2ot RIS BAEL 45| |& T X 5
o E0YH 02| |= [&E TN EEES 04| B [B)FULE—Z 5
P |zsow u-mne 6 "f FrRY wl | |EE 1|, [P35 i
z BiE 02| |g E& 35| |2 ThRA 8| | > hL—# 0.8
~ K 12| |3 |AB 10| |z |@f-dil A—y— 5 [ [FErarvA 0.5
H  |Efctdm g—y— 5/ |l |E—=> 10[ |v [BYBEZE 07] |1 BiE 0.6
I o |zyrE xsx0. sm) 8| || FTYSE 05| |~ |SL&S 0.03
(B BBRBERSAR 5| 1 |IzA1z< 03| |[A [hHE 35| [V
8 [35ha 20| |V &£z 112 [ererrreys ke 25| |7 |3 206
PR CEIS ol = [p55m 1| |7 [=am 12| [¥
y [AZ 7 Led 45 g | BB 15 | (LR ECHBE 10
A |BE—na— 1ke 3 |1z (LB 15| |l [H=Uvosims— 004 |53 [V 30
Y =t 13| [ |[FARE—Y—X 15/ |& B 55| (@ [ZEw3Y 10
noLESK 25| |&  |TARA 05| | = |wmk—ra— ke 10
#& & 05| |9 [cEm 05| | [rmexzmzs12) 0] |2 |AB 7
;’; ; ;‘i (BZ)ULE 1.5 7'0 BEE 23
% &0 12| |5 |o=2nscem s 5 5 DEZAIZRL 7 N=L 1.2
z |BBEEE® 20) 10 Ff (A& 5cm) 5 |l |EFELSIFES 10| g [HS5H 1
& 30| [, [ELbh®(Hvh) 08| |&= |AB 7] |1 BiE 0.3
Z AS 7| (& |Ew3Y 20 () &L AIFA 500g 51 |17 |2L&S 0.03
3 [#)EeuaifA 5008 4| Y A 1l (B |[v345m 05| |V
N 2 T BWYECE 1| [E [Lesw 22| |b [R=azEm 7
§) =B 5] o |Lesw 25 ;j B 1| 5 [Cearg 25
i |BE 015 |, |BEF 2l |- |[#YA 0.5 |5 E& 30
o |HYE LA 15 |k [Lam 15 [ [EU 7| | [AB 7
= K 40 CFEi 1 A |RAD=Z(EF) 5
§ oL 0.05 (GI=ES 25| (VY |0y 2
- bk 1vd 5/ | |@prsrx—F ke 4
E hzY 5 x18 20 3 &5 05
7—EE(Pu2E) 4 E& 20| | cL&d 0.03
Be=F 0.6 AL 1 |~ [FEravvA 0.4
LS 0.3 L rtd 3 I)p LS 05
HYA 1 bpii] 1 | & 110
7K 2 L&5K 0.6| |?
aiE 06| | |wE)a—sircEm 70
HYA 05| |7 |masmAvioyT 10
BIVER LA 4
HLE®R 1
7K 110




N&HET 10H
7B (R) 8H () 98 (k) 108 (K) 118 (£)

kL4 Ba% —A&HY BR% —A&Y | |[#zs =Tk —AN&Y | [#zz BER% —A&Y | |#1% BER% —AHY
EXRA=E EXRR=E EXRR=E EXKS=E EXKS=E
NN b= VA VA Y 30| |13 [HEEX(BR) 65| |S [HEEk(ER) 12| | [BEkER 72| |5 |[2ysisy 50
N T, | | |EE 3| & [mExE® 8| (¥ [mEx@ER go| A [ay~ssy 60
3 T |HLER 0s| |V [mmiex 0s| |V [mmiex 05| [ |arnm o—y— 6
~  |HE 206 BEE 10] |4 & s [JBRIZKH 5
% 4 | LB 8| [z [&E 206| |z, (&5 206| |~ |ZEHE 3.6
v R TLN—D) 35 |3 |BiE 0.8 ~  |#Foxy 1

B M- AL (X Tom) 12 B bb-BEL( X 1om) 10| & A 2o B AEEBRL 45| | B M- AL (2 x 2em) 24 b4
F o lea stomsLaxam 8l | |&E 1| | | && 2| |7 e ttemmiexem 6] |1 [#= 206

A [x—=Em 10 ; () #B4BIF (5 x 40m) 5 2 BiE 0.15 ; £z 03 ;‘i
= RUSEH 40 0 IS (SEAE - CRARINED) 5 # ZL&S 0.02 LI b=pii] 1| |— B HWEAS 30
o |AB 10| [ [AZ 5| & |[GAABTYEBSEL 5| | |TASA 8| |2 |EE 40
- |aoEf 5 o [ oEis 1ke 3 i [w3%—=X 1ke 8| |+ |tftm o—y— AREEmEES 35
x|y ¥ 5 | & SFEE(TLA) 03| [F |mhyr ssiss sooma 1| [> (W I FryT ke sl | Az 15
Lt 5 | [Funir x4z 0.3 =ik 2 '/ FoTHA 15
A ETR 5 |12 Lo 19| |E [K2®L 25| B [Ledw 13| |7 [|E= 05
'; E—<> 5| |& 53<ELLESH 1.9 ;1, F5INAE 25 J?L I2AI=X 05| | |[US5Hh 1
[2Al=< 0.5 BE 18] |4 [Led® 23| | |ERE 004| [ |[@®HBR—T 1ke 4
5 |¥55m 1| [= & [LE% 1 [# [k 75 3 i 1
L |BXESHE 1| A &R 206| | |BYBZHE 1 |h A BiE 05
v L& HRES Z ¥ AL 0| | [FERraLvA 03
A = 06| [B  |eozvtxss s 40| |F  [amiglf 5| |7 [hiaz 25| | [Ledw 03
¥ las 04| |X  [tttam o—y— 5| B [xozunt (2on) 25| [ [k 11 l* [cus 0.03
7 |cLss 004| | 4 SINET 0| |4 |[BysESE il |~ [ 70

(E) Z&H#DY 0. 3g 0.3| |4 TRy 30 & hhE 3 3 (A)LEVRH B7E-500g 0.6 /E?J
Y MR 15| |- |[RHE 55| |& [CEH 14| |p  |[rAcAWBES3mM) 20
Ao [EERY 30| A |whh—ra— ke 5| [F |HE&#Z 5/ [& |BBLIZAIK 02| | |Ew3Y 18
o |EedY 15| it (A3 5 [\ [BFL LA 4l |2 |BiE 04| |- [HELIES 10
FINTUH 5 Lesh 1] [ [k o] || [s@x—Fdaun 0.4 A 7
(LR R—La—y 1kg 5 EAEER 1.1 gi 7 iFL (LR A—La— ke 5
() LEVERT 875008 1 z 5 RULR/ L GEf) Bk 7| |* ERICERFLYL Y 8
BEF 1.3 BRENEES () 5 [+ L | EE 25| iy | BEE 0.3

iy 1.5 = 25 I A5 8| |1=

=} 1.1 migT 7 N |hhE 5 |A

B8t 0.3 DEZAIZRL 10 Y |&/(8~10cm) 5| [S

ZL&S 0.03 AS 7 ‘lt LV (RS1R) RE kg 5 Et’

i E 3 y [PzsH 05| %

YAZ 25 L&SKp 2 [ ) MBR—T 1ke 4 o

BiE 0.4 L&Sw 05| (R

HlYgs LA 4 FEoasy X 04| |!

HUES 1 B8if 03| |7

7K 110 L&D 0.03 18

CFEH 01| |z

B 130 |4

7

(BT L—~U—tY— BHE 40 e




N&HET 10H
158 (&) 168 (K) 17H (K) 188 (£)
R % B4 —A&Y | #zs BRf —A&Y | |#zs BRf —A&Y | |#xz BRf —A#HY
E%RRE EXRRE ERRE ERNE
S BAaxEg) 72 |3_51 (®DTIEL SHEQF M-3 200| | |FEEX(BR) 72 % Shim/L RE 50
‘jf Bk (B8 80| |2 l@wcss smson] a6 280 3; A (B 80 I;; SHBL HE 60
Rk 0.5 4 |@meeis snros 300 = ik K 05| [%
S P (3 X 2mATAR) 25| |z |HRERAHDLD 1ol |, &AL 206
o [H4EL 206 (4 |FEYNEEF(E) 10] |4,
#, E¥ 30 43, 206| |4 (RN R B -1y 60
?- AU—TB W3 x3AYh RTAR 45 A% 10 4: ;L G — EER BRI HE EF‘ 80
|J BiE 01| [P [hh=E 5| |2 [smex2mzss2) 20 E 5
5  |EL&D 0.02 ; L&KW 450 |2 GEAALS 20| 1Y |zurxaixsxo am 5
B |ESESE 1| |7 [2Y4 3 |g  [HELSES 20| |75 |R0EEH 5
FO|ETEEE 25 |\ |-EEI%E 2| |z |hAcaBESEm) 150 [ [L&L 5
Yoolzyrx ||y |EE ||l |AZ 15| |5 [£= 0.3
; H55 i 1l = |&& 04| & [LoL 10 |2 [ical< 0.1
() PR FryT kg 8| [# |EFL LA 5| [ [e&evasa s00e 51 (P |55 5H 0.5
- [mrE—v—2 3| | [k 140 [P [Z# 05| |=  [@wretrsryT i 8
5 | EBsE 0.7 ;} R [T 3.6 Ij (®)hThEa—L Tke 4
T [TARA 02| |13 4EL 206| | 5 o IR 48 25| |z |2RE=Y—R 1
L i |[AYA 1 Ia=T ) 0.6
b Cohirg 55| |2 |mazsrwvcksesnes 28| |0 |I&E 1] IR |[HYA 0.6
5 |ty 05| |F |fftam o—y— 4| |# [TARA 04| | |L&SW 0.2
+ |[&E o1] [BF |a&i 005 | [£Lit 20| |2
3 % it 7 [FeRy 30
T2 lkorziscammiss 5| |* [ze3Y 30| |\ |ZE& 20 jj'f Ep3Y 7
Z [Wh5Fomike 20| ¢ [FxZev4 20| |+ @B 5 |15 [AZ 8
PENE 25| |4 |AB 1| |x  |EE 25| [#  |whd—ra— ke 5
F |FUFUYA 0] |2 [LeSW 2| (18 |HRFE 3 CRILEV R RE-500¢ 1
> A 7l 12 |&E 2.2 hHE 55| |7 |BEE 1.3
7S os| |® [LagE 1.2 H#z 5| |7 [AU—Tm i
7 |@eas e 3 [ [gsam 05 AFL fLE o |7 [ram 1
y BiE 06| | CFEi 0.5 = 120 |2 |BIE 0.3
o |SLsS 003| [y MVYBZFE 1 [ [EL&S 0.03
Z  |L&OW 05| |& (E) LW X1E 30| [&
I |FErasys 05| [~ [uE)FacosseE 7 A—av E) 5
7 |5 120 ET 25
o Cehilrg 30
& (@) o3—4J Lk 80 AS 7
3 +0y 3
| Y54 0.5
g o—yT 0.1
’If () H5R—T 1ke 3
~ FEoasy A 0.4
th BiE 0.4
1) cL&d 0.03
7 L&5K 0.3
- = 110




N&HET 10H
218 (H) 228 (K) 23H (k) 248 (K) 258 (£)

B Bad —A&Y | |#zs Bmdb — A&y | |mus Bmdb —A&Y | |#Isa e —A&Y | |#rs Bmt — A%y
EXRRE ERRNE ERRE ERRE ERNE
S |EEkER 72| [©  |wExEs B EEERERS) 65 |3 |auR/SUGLEY) 50 [© |[BEXER 72
N A =L9) 80| |I& [HExE®K) 80| [? [sozuicames 30| |Y  |[ZyssUnE) 60| [1F [mExE®R) 80
A gk 05| | [#aaicx 05 f\ EE 6] (7% A ek 05

4 4 % BiE 08| [\, [#Z 206| |4
3, |[4EH 206 [z, [4E 206 |~ |[HLEf 0.3 3| |[£FEMGEx3mRIAR) 25
x|k 10| |4 [men messcosmrm 30 FRESH 2
< |BAFEIVF 25( [&  |me m-muL@x2m) 21| (A 2 [me stmsLEsem 20| [/ [CodtLrE 50
| [BE 1Y [me st exem 14 43 206 BBLIZAIC 02| |¥ [RLEEE 45
'T‘ (8) B (vh) ke go| |A  [B& 1) |+ Lt BARESH 2| | [Az 10
g EH 35 f:) () BEETHE (k) ke 30| [P A ATATASAfE 40 I% L&50 0.8 ?r TULE(1x3X0. Tem) 6
5 |Erosama ey 15 |p [BX 35| | |Efctail B—Y— 4 o FErary A 04| |2 IV E—X 5
» [AZ 0] |4 |E& 25| |y |[ZBHE 4 |~ |(BE 02 I2Al=< 03
LT (RSAR) R ke 3| [ [KR 20| |5 [RTEE 35| [v  |F3vHRysi—100g8s 005 |y B35 1
E|ELIFEATY) 05| |® |RIAIZL 15| [& [L&5R 25 [/ 2> |E¥AF—X 35
| hhE 3| |[A  [KhZE 10[ | |#HYA os| [ BEEAEED (DY) 7 (B |hEH 5
7 |xz 1 AB 0] [P [k 7| B[Ry 2| [® [/35— 3
P [EVIES 08 g ik 3 ?; g [ze3Y 20 f; H55 2
5 BS54 INPS Y355 17 TARD i ZXvRy 7|5 [ErehEa-L ke 15
g @ty reyT i 5 |4 [L&SW | [z |hacsd@be>5m) 15| |5 |[AZ 1 |4 [EEIbkE ke 10
L&KW 35| |5 [ 4 |, [EVLZIES 10| |5 |BEE 1 (B HBR—F ke 3
F ) ABR—F kg 3| |4 I+ [AS 5[ ()L |eLersst me-sog 1] |3 [DRE—Y—X 2
| ®az 35 LELYDHA 2 OB PLNAITA 5008 5| [¥ [#55H 1| |[&E 05
A |zEg 06| [#* |23y 20| 1V [emznmmumny sooss 5| |7 |LagE 1.2 |2 |[FExravys 0.6
FEo O YA 0.6 Q; AHOL 20 & [CEm 1| |¥ [&& 03 ’5 TEE 05
BiE o1 |7 |k 15] [0 [L&SW 22| 5 |SL&d 003 (| |2l 0.15
CFEim 05| [,n A 1 | [EEHE 15 |z . |EL&S 0.07
SRE 01] | [L&IW 2| |=  |#YA 05| |1 |R—ar (EM) 5/ )p  [B=UT 0.01
TASA 1 |0 |BEE 2| (A [BYBZE 1] | |wesErEsea. sm 30 [ |im 78

& 15| |# (LB 1 [ |5 5/ | [B)hELe~—2k 20| (@
— |54 05| |5 A ET 20| | (43 206

O—2/\L GEff) BiiRE 5 CFEH 0.5 . o 20 7|° AN 05| |~
E—ov 5 x E& 20 Y55 1 O—2Z\L (EfR) SikE 5
AHPL 25 FHMA 80| |- [AZ 5 (B HHR—F 1kg 4 FrRY 30
S5y 15 £ [BRE 3 FEavYA 0.6 Ep3Y 10
AS 7 0 [FLLnEFERS1R) 0.5 Big 0.4 r<h 10
WYBRTE 1 L& 1 ZL&S 0.03 AS 7
L&S5KW 25 BiE 0.6 SEA4E 30 (LR)FR—La— tke 5
BEF 22 TARA 0.5 £91)—L4 2 (B2) 7 #& B 0.5
N=t:] 1.5 BIYET ZLA 4 & 70 1EMDF (FH)500g 0.8
CEH 1 HLE®R 1 BEE 2.2
oL 0.05 = 115 L&5w 2
Y54 1
() voFAF—K Sa BB N 10 A=} 1
() F v FAF—X g Sl f 15 ZL&ES 0.02
(B) 56— o RiEERT 40




28H (H) 298 (K) 30H (k) 318 (K)
BRI % B —A&Y | |mis Bt —AZY | |muae B4 —A&Y | |mzs B4 —A%Y
TR E ETRAE ETHRAE ETRAYE
F|HEEXRER 72| |[K [HEEXER) 53] [7 [awRs 50 [ [HBEEXER 72
% BEXER 80| [l [BBK 12] |7 [3yxisy 60| ([& [HBEK(ER) 80
Y [geREX 05| |B [#rmE@x2mz543) 10| |73 A |BRERIEX 0.5
m C ([ERQAEE 10 |+, |®wsc gEea-v-ms 10
F |45 206| |h (LR ILWEIYHIR 12 (LMYAS EE- kg 10 (4 [4E 206
H AS 5| |£ [ EBE 3| 2L
I+ |hzY 18| | |[Y35H 05| [ [@Leemit g so0e 0.5 (B EAERTHTE /N 30
£ [BXEKE 65| 2 [L&S9 15] | & [wEaEoraza 40
A [AS 5.4 B 11z, &5 206| |A
A |ZIES (EEAF) 1l |5 | EB%E 1| |= F  [KEHL 30
Y (BL)ULE 045| |h (&I 05| [ [CR)BIYLEH 15| (@ [[E5SHhAE 20
. CHTEBRE ke 27| ([0 [HLE® 03] | ¥ [R—ar(Em) 5/ | |AZ 8
X (RS IL-0RkE 8|l 2 L @ aEvaFasc—2k 15 [ [L&SKW 25
2 K 95| |& |&FEL 206 |71 Cohng 35| |&# | LB 1.5
W |fftm A—y— 5| |h o |EE 30| |12 |BYBTE 1
(%) X2 15| [F0  [rzE7 ssdmae 0| |l [AB 7 |1&E |[BYSTEE) 0.5
4 B |ER 15 |~ [/3&Y 0.3
3 [EF3hAE 20| | |AZ 5| |2 [HS4H 05| | [(LR)SFBHR1ke 20
FrRY 30| |4 [ROEET 5 @ (®) P BA—T 1ke 4 |2 [EE 30
5 [AZ 7] (A [CHEERT ke 3] | [BRESE il & [AZ 7
M |iEsos FE) 500 07| |1+ |&EZ 05| [ |BE& 05| |2 |ADET 7
N[O ST)) 22 L&KW 19| [« [CL&S 0.05 ara 3
& [RUBE 1 |&  [#YA 09| [~ [FExrarvA 06| |5 Bl 1
Z B [TARA 04| |~ [@—YRE—F 1| 137 LR 0.6
(%) $151F (5mm x 40mm) 50 |5 7K 8 ;"; TG EEN 30| |5 Bif 0.5
M |E2FEVD (20mA) 20{ (Y & &= 50 [f= |#YA 0.5
% | X 15| (o [Zw3Y 25| |< F  |HIVET LA 4
X |AZ 5[ [ [FvRY 25 (LM FESCHHIE 71 | |HLE® 1
D Lol 5 £ |AB 7] |F Ry 20| (A [K 120
#  [FRE 3 |3 [repos@E)s00s i [* [Ee3Y 15 |Y
% |[haz 55/ |17 [L&SW 23| |, [AZ 1|7
T |[EA&Z 5 RUBE 15| |5 [€£AY 2| |E
ZFL =LA AR EES 02| | |BEE 15] |L
X 120] |® F (LB 1.2| [t
= s m-gELE@x2m) 12| | ¥ [z msr g so0e 1
T [ma tt-muLexam 8 Z Y545 1
BV (20m) 30| |7 [BE 0.3
DEZAITRL 10 L&D 0.03
AS 10| |#
A 39) 10| |2
AhE 10 ‘7{
L&KW 35] |1
o IR 2| [+
EE 15| |5
BiE 03| |4
BIVET LA 2
K 15




